NTHERADER(BFRREFH
3F—-6A—-2E—-FAiE A =]
K4
1) ROXZRHSRLES, (2R X 10%8)

1) ax+ay 2) X —4x+4

3) X +5x+6 4) 2ax—4ay+6az
5) x2—y2 6) p2+8p+15
7 x'—x—56 8) x —7x+12

9) a 4+2a—63 10) a +6a+9



NTHERADER(BFRREIFH
3F—6A—2:8—Kig A =]
K4
2) ROXZEHSMLESL, (2R X108

1) x —2x—3 2) a'—25

2 2 2
3) p—11p+28 4) a +2ab+b

2 2
B) x —6x+5 6) x —16x+64
7) 2xy—4xz 8) x2+17x+72

9) x°+12x+36 10) —4ax+8bx—6cx



NTHERADER(BFRREIFH
3% —6A—2:8—Kkig A =]
K4
3) ROAZEABARLESL, (2R X108

1)y +13y+42 2) a'—7a+10

3) 12ab+16ac—32ad 4) x°+10x+25
5) x2—8xy+16y2 6) p2—81

7) a’—11a+30 8) —15yz+9xz

9) a 4+7a+12 10) a +2a—8



NTHERADER(BFRREIFH
3F—6A—2:8—KIg A =]
K4
4) ROXZEHGMLESL, (2R X 1088)

1) y2—y—20 2) X +4x+4

3) 3a—6ab 4) x'—9x+18

5) x2+4xy—21y2 6) a-—16

7) ¢ —6cd+9d 8) 20a°x—1 5a2y—35a22

9) p2+5pq+4q2 10) x2—6x+9
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NTHERADER(BFRREIFH
A B
K4

5) ROXZHEHSMLESL, (2R X108

1)

3)

5)

7

9)

a2—5a—6

a2—10a+25

a2+3a—18

p2+8p+16

a’—36b°

2) x°—121

4) —7p2q—14pq+21pq2

6) x —15x+54

8) x +11x+28

10) p +5pa—14q



NTHERADER(BFRREFH

3% —6H—2@
1) AE—@E (2A%108) A =
1) alx+y) 2) (x—2)° 3) (x+3)(x+2)

4) 2a(x—2y+3z) 5) (x+y)(x—y) 6) (p+5)(p+3)
7) (x—8)(x+7) 8) (x—4)(x—3) 9) (a+9(a—7)

10) (a+3)°

2) WIE—MRE (25X 108) B =
1) (x—3)(x+1) 2) (a+5)(a—5) 3) (p—7)(p—4)
4) (a+b)’ 5) (x=5)(x—1) 6) (x—8)

7) 2x(y—2z)  8) (x+8)(x+9) 9) (x+6)°
10) —2x(2a—4b+3c)

3) KIE—RE (25 x 108) B =
1) (y+6)(y+7) 2) (a—=5)(a—2) 3) 4a(3b+4c—8d)
4) (x+5)° 5) (x—4y)> 6) (p+9)(p—9)

7) (a—6)(a—b5) 8) 3z(3x—5y) 9) (a+4)(a+3)
10) (a+4)(a—2)



NTHERADER(BFRREIFH
3F—-6A—24
4) RE—MRE (2R %108 A H

1) (y=5)(y+4) 2) (x+2)° 3) 3a(1—2b)
4) (x—6)(x—3) 5) (x+7y)(x—3y) 6) (a+4)(a—4)

7) (c—3d)° 8) 5a (4x—3y—7z) 9) (p+a)(p+4q)

10) (x—3)°

5) &E—ME (2R X108 A B

1 @=6)a+1) 2) x+11Dx—11) 3) (a—5)°
4) —7pap—3q+2) 5) (a+6)(a—3) 6) (x—6)(x—9)

7) (0+4)°  8) (x+7)(x+4) 9) (a+6b)(a—6b)
10) (p+7a)(p—2q)



